A £ 0l & AF & S

Al A

FA SEES
B MBlAE AEBR| 0T 2E
ool ATHY 25 (ol m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SHES 12,957,871 19,160, 153 6,202,282
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[ 23,000
Il 201,540
< 1,012,102
= 8,782,771
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S =22 11,000 11,000 0
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Ostgel stitsial =4 3,500
02 S3=gHl 5,000 5,000 0
o yeBdZE€ s FE= 5,000
203 =4l 2,500 2,500
03 A=A 2= 2,500 2,500
OstdEs HRF 2,500
SHAFHM(EX) 101,000 75,938 25,062
Il 101,000
207 ARl 101,000 75,938 25,062
Jl 101,000
01 H2E4H| 101,000 75,938 25,062
OLEEE&c] AMAE OB It 73,000
) 73,000
Oegsgdc e, A42AE ZLIHE 28,000
Jl 28,000
HENStE RX2el 70,800 41,800 29,000
101 @124H| 9,000 21,000 212,000
M ORIMZZ2NSE S 9,000 21,000 A12,000
O8XE MEjstd S22 (BLE M=
g 8) 3,000,000 #32] 9,000
201 fer23y| 11,800 11,800
01 AtR2t2lHI 2,200 2,200
OZHIS A=z 550,000 »4& 2,200
02 s3=gHl 9,600 9,600 0
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2A:

Ha: sas
ik dacl EER-E)
CHE . O(BIH) - HIRAY - BAS A e
iy 971,451
o (Ex) 481,050 254,331 226,719
= 112,450
& 34,150
= 334,450
L20HY| 200,000 0 200,000
= 100,000
= 30,000
e 70,000
200,000 0 200,000
S22 ToH0EA (XIEAIE)
100,000 *2,000m 200,000
= 100,000
= 30,000
- 70,000
=0l™ 281,050 254,331 26,719
= 12,450
= 4,150
iy 264,450
02 QIZIXHEAIE EZ(OIMTHE) 281,050 254,331 26,719
S=2 TloloEA (SIHKIE)
2,810,500& *100JH 2~ 281,050
= 12,450
= 4,150
= 264,450
off ol 2 107,700 123,700 16,000
234| 32,700 64,700 32,000
22| d| 29,200 61,200 A32,000
MEZ2 IooY ARFA 2= 7,000
M=z JIsEEH 2N 6,000
St 2Y oMEgE 2 3,000
2 S 3,000
X HAK S2tE6H HSAHOIH &
7,200
Xl HAK HeldlE 9,000
HIALMI 2Bt 300,000 *303 9,000
SS24H| 3,500 3,500 0
s= Oloide g2 FRE U =X
3,500
BtE&= 75,000 50,000 25,000
14 JIEtE A3 75,000 50,000 25,000
FMES HoHEXS ZEBAS 50,000
fHES= HAK 28 X3 25,000
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A 2EES
3 GAMEH SH2ES
Rl XgEd 2dae EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
MEH nEtdE EXIAY(2X) 20,000 20,000 0
= 10,000
== 6.000
[Ea 4,000
101 e124d| 20,000 20,000 0
= 10,000
=S 6,000
s 4,000
04 JIZtN2Z2 XS 2 20,000 20,000 0
OMEHH wetds XA 20,000
= 10,000
= 6,000
[Ea 4,000
HE A wetd=E EIXIAY 8,000 8,000 0
307 21201 & 8,000 8,000
02 LB AANHEE 8,000 8,000
OB A=A AL 8,000
Zletd dHEs2h THA 9.1% 9,062 144
101 @124H| 6.69%6 6,552 144
M ORIMZZ2NSE S 6,6% 6,552 144
O HAZR AT (CHE X ==]) Ol ==
1,000,000 *32] 3,000
O+ WEM &4 sXl2el
77,0002 43| x 1204 = 3,69%6
201 =3 2,500 2,500
01 At22t2lH] 700 700
O2=+ UM s&3d 225 2 700
02 S5=2g4l 1,800 1,800 0
O2=+ UEHM 3834 3523
150,000& * 12043 1,800
S8 MH3E LA (HEAIY) 350,000 2,600,000 22,250,000
401 Al HIZ S 0HbI 350,000 2,600,000 A2,250,000
01 AlZ8| 360,000 2,592,980 A2,242,980
Oga Sa HEHHSH ZEAMY 350,000
Re 3ol x4 20,634 20,634 0
2| et 20,634 20,634 0
SHINERYS B> 20,634 20,634 0
201 er2 3| 17,634 17,634 0
01 AtR2telHl 9,84 9,834 0
OstZNERYS XA M 5,200
—dJIg 400,000 22 800
—S==2 300,000 42 1,200
—SES(WE) 800,000& 42 3,200
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ot EtZae] &gt (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SEEPEEE e E=
50,0002 x 1574 2+53] 3,750
O Rg=s 87 As0IMElES 584
—3 088 22,0002~ 128 264
—AUSO0IH =2 803 *4,00021 320
OBZNLRES NAHE 242 300
2 ZZ2H| 7,800 7,800 0
OYRUDEXA 258
400,000 22 800
OdMERE= LN &sHIE 7,000
—&J|= 1,300,000 22 2,600
—SE5=2 400,000 42| 1,600
—SES(WET) 700,000 42| 2,800
303 Zal= 3,000 3,000
01 2= 3,000 3,000
OstZNdRgs o+ AdEE 3,000
HERe s 2 4,754,354 5,463,058 AT708,704
= 2,101,858
= 23,000
) 100,540
= 664,907
= 1,864,049
toletd |2 4,754,354 5,463,058 AT708,704
= 2,101,858
= 23,000
Jl 100,540
S 664,907
= 1,864,049
oleg=3dy 2= 30,000 30,000
401 Al HIZ 2018 30,000 30,000
01 Al&HI 30,000 30,000
OlILE=dY £2lil £X
10,000,000 *39H 2= 30,000
WI=3y 24 51,334 51,334 0
== 15,400
o 35,934
201 =3 15,334 9,334 6,000
[ 4,600
T 10,734
2 35244l 16,334 9,334 6,000
OoIEsdY 29 15,334
= 4,600
= 10,734
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SN B#YLED
M YHEE g 2
Rl tolEd =Xzl EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OXSxt BAHIER 1,080
Jl 540
= 540
2 F7A EIHL NS 21,310 19,510 1,800
201 fer= 3| 21,310 19,510 1,800
01 AtR2te|HI 3,310 4,510 1,200
OSXEIOtA N =88 R 1,000
—2AIHHEIA NE=EHE =2l 1,000
OHENA 2K d5FAABA ===
= 23,1003 *100CH 2,310
02 S3=gl 18,000 15,000 3,000
OXNSAt 2eHe SEANAE A2+
1,500,000 «12& 18,000
AR HIStA LM (EX) 1,437,480 1,552,000 A114,520
= 735,240
= 210,672
o 491,568
301 EetE2 N = 1,184,980 960,000 224,980
= 592,490
= 177,747
o 414,743
14 DBt 2 a3 1,184,980 960,000 224,980
O-=3]x(652) XWX A 688,000
= 344,000
= 103,200
= 240,800
OFIRA(4SZ) RIIHX K& 400,000
= 200,000
& 60,000
= 140,000
OAEIIA ZIIHIXE XI& 96,980
= 48,490
< 14,547
s 33,943
402 2I2F X201 & 252,500 592,000 A339,500
= 142,750
= 32,925
s 76,825
02 QI X2 AL EE(OIHTHE) 252,500 592,000 A339,500
OL=Z K1t 0PF 22 1A 82,500
= 41,250
< 12,375
[Ea 28,875
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SN B#YLED
M YHEE g 2
Rl tolEd =Xzl EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OAEIH AMTWH XA 165,000
= 99,000
== 19,800
[Ea 46,200
OLPG st=Xt AR+ X 5,000
= 2,500
== 750
[Ea 1,750
IS FOHXIA(22) 1,970,000 1,908,000 62,000
= 1,090,000
== 264,000
o 616,000
402 2I2E X201 & 1,970,000 1,908,000 62,000
= 1,090,000
S 264,000
o 616,000
02 RIENSASEZ(0IETHR) 1,970,000 1,908,000 62,000
OMI|&SERE FOHXI (124 650,000
= 250,000
= 120,000
Ea 280,000
OTIIGtSXF FOHXIA(212F) 1,320,000
= 840,000
= 144,000
Ea 336,000
HIISI FOHXR(S3) 95,000 95,000 0
= 19,000
o 76,000
405 KHaHE SH 95,000 95,000 0
= 19,000
T 76,000
01 AL =S F = 95,000 95,000 0
OHIISER FUXE(S3) 55,000
= 5,000
= 50,000
O®™IIBt2xt ROHXI(S3) 40,000
= 14,000
o 26,000
&I OIEX E5AH 32,000 54,000 A22,000
= 16,000
T 16,000
402 QIF X201 & 32,000 54,000 22,000
= 16,000
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A 232
M YHEE g 2
Rl tolEd =Xzl EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 16,000
02 QI XHE AL E R (01X THE) 32,000 54,000 22,000
O&II0IEX E=AtS 32,000
= 16,000
s 16,000
OIMIZHA 24 SHMR| TAF 2 2AI(EX) 52,200 50,600 1,600
= 23,000
= 29,200
101 @124H| 47,500 45,900 1,600
= 23,000
o 24,500
MU IIRINZZE2NSES 47,500 45,900 1,600
ODIMIEXl ZAIE 2128 46,000
—=5 1,824,000 «2E *100H 36,480
[ 18,240
o 18,240
— gl 130,000 =2 100 3 2,600
s 1,300
= 1,300
—AM2EE 200,000 x2Z*100H & 4,000
[ 2,000
o 2,000
—SEFOHI 800,000 x2H 1,600
[ 800
Ea 800
— A2l 660,000 2 1,320
= 660
o 660
OOIMZHAI ZAIE 250l HE 0Bl 1,500
201 et 3| 4,700 4,700
01 At22t2l] 2,200 2,200
O0IMSX &Y S 2AES L5 7
o 1,200
OUINIEAl ZAIE 230l HE Sl 1,000
02 S3=gl 2,500 2,500 0
OOIMEX ZAl =58l S FA22ll 2,500
OIMIEHA TS 19,400 24,900 25,500
201 et 3| 19,400 24,900 A5,500
01 AtR2te|Hl 19,400 24,900 25,500
O0IMEZX s =22 7Y 7,500
—AUSBIIEetalE S 7Y
30,000 x2507H 7,500
ODIMIEAl 2l AR S =X 6,400
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A 232
= HEE oy 28
Rl tolEd =Xzl EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—0lNIeX tHe 82 St A S
800,000 82 6,400
OOIMZHAI M2 &r==Xt S
550,000 x5 2 *2CH 5,500
IHEE MN=sAEe ESAME 6,000 6,000 0
= 3,600
= 720
o 1,680
402 2I2F X201 & 6,000 6,000 0
= 3,600
= 720
o 1,680
02 QI X2 AL E R (0IETHE) 6,000 6,000 0
ONEE N=A22Y 22 6,000
= 3,600
S 720
= 1,680
23012 dWEX ds=A2c 3,436 400 3,036
= 1,718
S 515
= 1,203
201 er23| 3,436 400 3,036
= 1,718
< 515
[Ea 1,203
01 At2t2lt] 3,436 400 3,036
OE3J12t B ds7Al2 3,436
= 1,718
s 515
s 1,203
IS sHITe A= 360,000 900,000 540,000
= 108,000
= 252,000
401 AIZHIZ SO 300,000 900,000 £A600,000
= 90,000
o 210,000
01 Al&H| 300,000 900,000 600,000
OHIINSA 2588 2= 300,000
= 90,000
o 210,000
405 KHaHE SH 60,000 0 60,000
[ 18,000
T 42,000
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o 30,000
207 AR 100,000 0 100,000
7l 70,000
= 30,000
01 H1E4H] 100,000 0 100,000
OBASE =48 J2HE =8 100,000
Jl 70,000
= 30,000
=Z FHAANS E2FZ ESMEY 12,600 0 12,600
= 6,300
s 6,300
401 AIEHIZ SR THYI 12,600 0 12,600
= 6,300
[Ea 6,300
01 Al&H| 12,600 0 12,600
O=8& FHUYANE EFZ EsMd 12,600
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IEERXesSE &5 2,639,658 5,413,558 A2,773,900
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[Ea 2,139,658
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s 2,139,658
IIE2aSSHeAE 2el 29 2,014,658 1,828,558 186,100
201 er23 | 515,158 540,558 A25,400
01 At2teltl 69,900 80,300 10,400
(@)= st =l 29,800
—AFd 2823 7Y 4,000
—AIRES 28 E ARRIII| =2l 3,000
—gxa &7 Y 500,00024+25] 1,000
~HelAE 29 ADE 29 4,000
~HeIAL HOIZ 24 44
250,000 43 1,000
~H2IAIL ot 2H 42
1,500,000 42 6,000

- 362 -




od
i’
oF
uJ

S 818
o (&N Ne)
20 © o|e
KIo <
E
E=]
B S8
N S|S
LH3r g N8
il
RIS
2883838833838 833838838BB3I 8 S 388388888 88888388 8|I8I188 888
O O 0O — N O N — — O O OO~ O N ™ o N O ~—~ I~ O O O W O NN O NN NN ©O O OOl ©o o o o
@ grNgYddowe - -gg g -~ & §oggd s~cdv~To-lglggga s
A
3
<
=3
oll ol LT W ol WS W W <
TP & & NN NI NN N _
i 0.
) - 3 % S8 8§ Su & z 9
o = 8 3 A
& | 2g 988 58 p8 ©8 48 o = o
< < — 8§ ~ : i H O
o<+ 2 R AL N B Mo =
ol E 1 w & i oo % D
= ™3 o+ = ~ of U W
= |41 o o o 4 s M2
i GO 20 = _ =
= e o ) i A0 =} la ok = i 4 U
o |2 D b C o3 A= Ok - 20 oF £ > o
o B =) = & %% B R =) ° K - w °
= |2 ® RT DR W< T M W U RO In =} o olsls W =~
: R < {Ir w0 i) RONE=R=) N R T 0 W MW | W ~ "
RO m | |1 Ao _ | = =S =R A Lo
: O N O O %10
H o 20
o+

_363_




FA SEES
Hu: JE2LHLls #E
o9l JlEERZIHeIAL a2y (el mel)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—2a) OE U ARE 79
12,500,000 *2CH*1H 25,000
207 ARl 13,000 13,000
01 =S| 3,000 3,000
OsciXlIfIE el |Iotard S 3,000
03 A= 32t 10,000 10,000 0
Odga ARE 7 10,000
307 glztol & 598,500 350,000 248,500
05 2IIRIE =2 598,500 350,000 248,500
OJtE2axel =ikl Xl 34| 598,500
401 AIZHIZ SO 558,000 570,000 A12,000
01 AlZH| 558,000 570,000 212,000
OIIEEa33XIcIAE &Hl =Xl2c 351,000
—JH£H| KXz 70,000
—&I14Hl |2t 50,000
—NSHH [A2el 50,000
—H=£Hl |X2cl 20,000
—=EASI| FA2d 89 25,000
—1T X2 &8 X2 40,000
—F N £l |2 40,000
—II=ELSSHeANE HFRE =L 56,000
O2+d HIEEH MaAIE 2| 65,000
—HIEQEA MZAE FX2el 89 25,000
—HIEQSA MEIAE AL B 20,000
—HIEEA M2ZAE =4 20,000
OII=ELEEXIAE IS8 IHESA 52,000
ON=2RXCANE HAES E+SA 90,000
—IIEERXCAE A=FEEF 60,000
—SHclAE BIIHE 23 At 30,000
LT IIEELS3NCIANE SEAY 625,000 3,585,000 22,960,000
= 500,000
o 125,000
401 AIEHIX SO 625,000 3,585,000 /2,960,000
= 500,000
o 125,000
01 A28l 621,200 3,577,000 A2,955,800
OIEEL33HEIANE SEAME 621,200
= 497,000
o 124,200
03 Al 20HHI 3,800 8,000 N4,200
OI=2a3SXAE SEMS 3,800
= 3,000
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FA SEES
B JlERLHISY 25
Gl JIEELZRARIAL Bol2Y (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
1] 2 B0
ot=XclsEHES 3,154,059 2,601,000 553,059
St=xel =225t 3,154,059 2,601,000 553,059
ol=XelAld 22l 29 3,154,059 2,601,000 553,059
201 er23| 575,000 566,000 9,000
2 s5=34l 575,000 566,000 9,000
Os&2= € MA 553,000
—2=330=HelAE LS
10,000, 0003 * 12042 120,000
— Y ESoxelAE JIIes
15,000,000& *129HE 180,000
—OiSot=XelAE H)IRs
15,000,000& * 1291 & 180,000
—&3oteE AU dUEt =2 73,000
OAI2EbBI= X 22,000
—0tSot=XelAlE Jl=dEd|
11,000,000 *2IH 2 22,000
206 MH=HI 20,000 20,000
01 MZH| 20,000 20,000
Odt==XelAld 28 NHH7E 20,000
—+EANSSHII(MS) |A2el AW 7
10,000, 0002 <2 %1 20,000
307 212+01& 160,000 130,000 30,000
05 2ItRIE = 160,000 130,000 30,000
O+BVSSHII(MG) FI=Rel S
80,000,000& *2IH A=+ 1H 160,000
401 AIEHIX SO 390,000 785,000 A395,000
01 Al&H| 390,000 785,000 395,000
OZSot=HMelAlE JI=aE WA 350,000
— QAT ZStHMelAlE D=8 AL
& 350,000
OO0t=otxelAME sl =82 9 40,000
402 QI”F X201 & 2,009,059 1,100,000 909,059
03 2IZH2AETAI I 2,009,059 1,100,000 909,059
O ZSZot=TAlE el 2| 1,959,059
OgasEotrAlE 2t 2EHSH|
it= 50,000
HY2AGH(BZESD) 46,800 49,560 A2,760
=34 46,800 49,560 A2,760
SFEs J1=22| 46,800 49,560 A2,760
201 Ler23| 20,520 21,600 /1,080
01 AtR2telHl 20,520 21,600 1,080
OsAH &t 16,416
OSEHl A0 L 4,104
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2A: EES0
. HY2IAH|(SFES )
&t JI=Z (CH9: &S1)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
202 0idl 22,680 23,760 21,080
01 =WHO4bI 22,680 23,760 21,080
OB A& 22,680
203 PYRF=&IH| 3,600 4,200 AB00
M EAM2IHRFA| 3,600 4,200 600
OZESH 2M2H 300,000& =123 3,600
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